Manuals+ — User Manuals Simplified.

ASCONA PM 040-K Bed
with Lifting Mechanism
Relax

ASCONA PM 040-K Bed with Lifting Mechanism Relax
Instruction Manual

Home » Ascona » ASCONA PM 040-K Bed with Lifting Mechanism Relax Instruction Manual ™

Contents
1 ASCONA PM 040-K Bed with Lifting Mechanism
Relax
2 Packing list for the bed
3 Packing set for legs
4 Prior to assembly
5 Documents / Resources
5.1 References

ASCONA

ASCONA PM 040-K Bed with Lifting Mechanism Relax


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/ascona
https://manuals.plus/ascona/pm-040-%25d0%25ba-bed-with-lifting-mechanism-relax-manual.pdf
https://manuals.plus/#ascona_pm_040-k_bed_with_lifting_mechanism_relax
https://manuals.plus/#packing_list_for_the_bed
https://manuals.plus/#packing_set_for_legs
https://manuals.plus/#prior_to_assembly
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Packing list for the bed



4 Package

Quantity %

a5 @ sample in showroom o on the webdte. [See Llags

Dalvary izt)

Part Item Mame
-\Q KO! Backrest ]
T K05 Linen box bottom 1
Package (*may be pocked separately)
Nol -
Instructions for use (cedificate) 1
Q\ Fabrie sample 1
[sewad in the cover for sidebors)
'y/;:’ Koz Lateral sidebar 2
C’/‘;—/—"> KO3 Intermediate sidebar 1
Package / K4 Intermediate crospiece 1
Mo2
The mils complete set
C_:—_‘;.‘—":":9 kK24 depending on the 8
bed size
@ Assembly instructions 1
Glidw selfadhesive
' KdE] A 14
Furniture angle piece
% kP23 140%1 40*90 4
D K20 Frgle piece 3052 L-120 oval 4
black
\ metal shelf
ﬁ K19 50%100*25 1
63 KO& Strap 5
Package No2 é .
Ao @ Kep12 Washer 6'1.4 4
pack
\% Kbl Screw M6*20 22
@~ K57 Screw MAYIS il
@ (=3 B MUt Mé 4
M K08 Screw self-fapping 3.8%32 22
Y Legs
L-Egi WORGNT dapenas an a bad model that & represantaed '| 5E_.1




/" Package Part Item Name Quantity
P01 Bed base 1
L
n%& P10 Lifting mechanism 1 set
e PP17 Gas shock absorbers 2
{ i PP14 2
Mattress holders
P (*may be of different vanant)
ackage r’L P31 2
No3
GM FP101 Screw M&*16 8
= P01 Bolt M8*45 (head) 4
S PHO7 Washer M8 4
@ P04 Nut M8 4
e vy
Legs variant depends on bed model that is represented as a samplein showroom or on the website
Complete set is shown on the label of Accessories Pack
Packing set for legs
4 Package ltem Name Quantity \
&
Legs K56 Leg d38*32 black 4
complete
set Nol KPO8 Screw self-tapping 3,8*32 4
Leg for beds chrome
Kep77 h-100 4
Legs
complete K39 Nut M8 4
set No2
K40 Washer M8 4
Leg for beds chrome
Kepb4 h-150 (pin 8mm) 4
Legs
complete K39 Nut M8 4
set No3
K40 Washer M8 4
N J




" Package Part ltem Name Quantity
) Leg wooden conical §0*45%12
Vi______,.a' KP130 veneer oak pin M8 4
Legs @ K40 Washer MB 4
complete —
set No4 @j K144 MNut M8 4
Ml
hﬁ Kl Giide self adhesive felt 20x20 4
Leg conical
ﬁ:j:? K 129 v 4
Legs @ K40 Waosher M8 4
complete
set No5 @ Kp]44 Nut M8 4
r
Eﬂi (=) Glide self adhesive felt 20x20 4
—— Leg wooden
o Kar 122 100 4
legs @ K40 Waosher M8 4
complete
set Noé @ Kp]44 Nut M8 4
T
lfﬂ! K381 Glide self adhesive felt 20020 4
Leg wooden
N K127 h-150 4
legs () K40 Washer M8 4
complete
set No7 @ K] 44 Nut M8 4
iF
il K81 Glide self adhesive felt 20:20 4
| -"_ Ko |48 Leg black matte 4
Legs @ K40 Waosher M8 12
complete —
set No8 ™) K3y Nut M8 12
1S N
th K 149 Bolt M8*20 12
. /

Prior to assembly

1. Check all the parts for any damage before assembling. Any claim for them on assembled article is not accepted



by Manufacturer. Package shall be kept until the end of assembly process.

2. When revealing any defect or incompleteness in the process of assembling, the package shall be kept until
arepresentive of trading company arrives. Assembly and operation Instructions shall be kept during all the
period of exploitation.

3. Check the parts and accessories quantity against the list. Manufacturer retains the right to make structural
changes into the article, change accessories and metalware for analogous that do not affect design and do not
influence on functional properties of the article. If incompleteness or any damage, mark absent part number
and inform the store to replace it.

4. Maintain the assembly order given in these instructions! If the Assembly and Operation Instructions are not
followed the manufacturer’s warranty obligations are removed.

5. To install sofa/armchair-bed/bed a flat floor zone shall be chosen! If the floor are curved may present deviations
in the functioning of transformation mechanism of sofa/armchair-bed/bed, distortions of the article form. Any
carpet presence is undesirable, because it makes transformation process difficult.

6. Perform the sofa/armchair-bed/bed assembly by two. Move all the parts gently without any jump, place them
steady, escape their falls and hits!

7. Move furniture and their parts only slightly lifted. This will allow to exclude any deformation or damage.

For assembling required

PO>XKOBbIM KAIOY
Nel10, Nel3 HoxHMLLbI PyaeTka

Scissors Tape-measure

Kpectosas oteepTtka

Cross-point screwdriver
P Open-end wrench

~
/

Instructions for furniture assembling. Bed with lifting mechanism. Version 11 from 20.06.2024 For sidebars types:
040-K



\ Komnaektaumio peek cmoTpu 8 N.3.2 [/
\ Rails complete setis shown in it.3.2

AN S

The rails complete set depends on the bed size

@ — rail 60cm — rail 70em ©— rail 130cm

090 120; 140 160; 180; 200




4 BApuaHT kKomNAekTAumMk HOXeK Nel € onopamm noa camopes /
Legs complete set option Nel with under self-tapping screw




Ecan y Bawen Kﬁ)DBCITI/I CMUHKA C (YLLK
nepeurtn kn.11-13/

If your bad has a backrest with “ears”
move on to it.11-13




HEe 3aT4rMBATb/
do not tighten

Mé6*20

do not fighten




15 BapmaHT KomnNaekTduMmk Hoxek Ned, Ne5 [ Legs complete set option Ned, Ne5

\ K81 K40 Mz13

IR S

K440 Mel3







MNocae peryAMpOoBEM NEepHmeTpd
IATAHKUTE BMHTHI/

After the perimetr adjustment
fighten the screws







28 B 30BMCHAMOCTH OT KOMMAEKTCLLMM
Depending on complete set

p
30

Complete set and assembly sequence may be changed depending on lifting mechanism
modification. See Base Certificate

-

Do not try to fold gas spring prior to being installed on the article. Gas springs folding without any mattress on the



frame is prohibited and traumatic.When folding beds for the first time in some cases a light effort is required. Close
the frame without fear of damaging shock absorber. If the frame is not closed with two gas springs installed, it may
be connected with underweight of bought mattress it is recommended:

1. Remove one of the gas springs lower the bed frame with mattress installed on.

2. Same procedure shall be performed with second gas spring.

3. Install both of gas springs on the lifting mechanism and lower the frame. This will remove difficulties with bed
folding.

To remove gas absorber:

1. Put flat screwdriver under the fixing metal staple;
2. Lift the staple up;
3. Remove the absorber fixing from the stud;

4. Repeat this from the lower part.






/
N

A If necessary material sample may be cut off of put

under removable cover
- /
/35 I
Width Weight
<120 cm 5-30 kg

140-200 cm 10-50 kg




Rubbing parts
lubrication shall
be performed
not less than
twice a year

-

Documents / Resources




ASCONA PM 040-K Bed with Lifting Mechanism Relax [pdf] Instruction Manual
PM 040-, PM 040- Bed with Lifting Mechanism Relax, Bed with Lifting Mechanism Relax, Lifting

Mechanism Relax, Mechanism Relax, Relax

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/cbc4cc5e06dbe347ab1e111687a08be2c2e6de7a49f5ae490a8e1225d919cbf5
https://manuals.plus/m/cbc4cc5e06dbe347ab1e111687a08be2c2e6de7a49f5ae490a8e1225d919cbf5_optim.pdf
https://manual.tools/?p=14126163#MTA0LjI4LjIzNC4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	ASCONA PM 040-К Bed with Lifting Mechanism Relax Instruction Manual
	ASCONA PM 040-К Bed with Lifting Mechanism Relax
	Packing list for the bed
	Packing set for legs
	Prior to assembly
	Documents / Resources
	References



